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K= 4 31 930 135 1,026 20 1 2,143 2,439 87.9 4,437 4,852 91.4
A H 157 418 575 671 85.7 1,112 1,365 81.5
H g 9 305 65 237 8 624 743 84.0 1,216 1,460 83.3
VA 5 83 13 55 1 157 204 77.0 342 431 79.4
AR 6 176 182 166 109.6 331 320/ 103.4
SUBARU 268 27 295 331 89.1 598 716 83.5
HAINY 21 21 34 61.8 59 72 81.9
= 62 3 31 2 6 104 132 78.8 216 272 79.4
AN 62 3 41 19 125 142 88.0 295 282| 1046
EE5; 39 5 6 18 68 61 1115 141 130 1085
ZHESTD 35 4 27 16 82 105 78.1 159 209 76.1
UDKZ 77 A 14 1 5 20 15 1333 39 39|  100.0
& D [E] PE 5 1 4 19 29 32 90.6 73 81 90.1
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